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Full Marks/quiis : 300

Attempt as many questions as you can. Each question carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question.

AfHifE T A BTG R H T L TAE I 3 IFF K 2| TR T T H
fau s 1% Fa1 Ioni TR@E AFEiE T w TEHE Y

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

7fe Ttk Al IR Al IW F T e &, @ Teeam ol s g

This paper comprises of Five Sections. Sections I and II are compulsory
whereas only one Section out of IIl, IV and V is to be attempted.

q8 YU U9 @uel k1 Rl @g 1 w1l e € 9= wues HI, VI VR @
et e w7 IW W R

Section—I
Hug—I

MENTAL AGILITY
(Compulsory for ali)

The sum of two numbers is 80. If the larger number exceeds four times the smaller
number by 5, then the smaller number is

A gETell W e 80 ¥ N uH TEW G A 9 TH A 5 IR 2, @ B FEn

{1)

5

(2) 15 {3) 20 {(4) 25

1 (P.T.O.)
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(336)

If 3 chairs and 2 stools cost Rs 1,200 and 5 chairs and 3 stools cost Rs 1,900, then the
cost of 2 chairs and 2 stools is

s 3 B ot 2 wew A wime 1,200 ¥e ¥ it 5 FhAA I 3 wrw Kb
1,900 %o €, @1 2 gl ot 2 wow i Hwa w7 e

(i) Rs 700 (2) Rs 900 (3) Rs 1,000 (4) 1,100

In covering the distance of 30 km, Amit takes 2 hours more than Suresh. If Amit
doubles his speed, he would take 1 hour less than Suresh. Amit’s speed is

30%@&0&%@@%%%‘&3@?{@@@2@#%@1%%,3111{31&334@11%
Wﬁ%ﬂ%,?ﬁﬁ%@:ﬂﬁlﬂﬂ&ﬂéﬂ%,ﬁﬂﬁﬁﬁﬂﬁ(ﬂ@)%

(1} 5 km/hr (2) 7-50 km/hr  {3) 6 km/hr (4) 625 km/hr

If the perimeter of the rectangle is 82 metres and the area is 400 m?, the breadth of the
rectangle is

T IR #t ofify 82 fer @ o guw Sute 400 m? R, smamr (faefiw) B «tsd
At

(1) 26 m (2) 16 m (3) 9m 4) 20 m

The ratio of number of boys and girls in a school of 720 students is 7:5. How :many
more girls should be admitted to make the ratio as 1:17?

w720 il % wpa § wssl o aehel f dew @ agu@ 7:5 Ry o fredt arstegi
l waw fen s 6 g9 ogom 1:1 @ ww?

{1) 90 | (2) 120 (3) 220 (4) 240

if 2P _C then *PFC_5
7 c

Wl
T

@ a+b+c fore BFT?

IR c
7 c

{l
B

a
3
7

(1] @ 2 @) % )

3=
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What decimal of an hour is second?

Tz UH U o R CYINEd BT 27

{1y 0-0025 (2) 0-0256 (3) 000027 (4} 0-000126

The square root of 0-16 is

016 F TR ¥ B ¢

{1t 0004 2) 004 (3) 0-40 (4) 40

A man walking at the rate of 3 KMPH crosses a square field diagonally in 2 minutes.
The area of the field in acres is

& s 3 Feolo SR 62 i W @ uw aviER A TATEA (diagonally) 2 FFE § 9
¥ A4 ¥, 9 39 @d F G CHS § g |

(1) 36 (2) 64 (3) 50 (4) 60

In a certain code, 15789 is written as XTZAL and 2346 is written as NPSU. Hew is
2335349 written in that code? '

= 32 § 15789 # XTZAL W 2346 # NPSU & &7 F fo@ mn 21 23549 + %2 &9
= TR forE ?

(1} NPTUL (2) PNTSL (3} NPTSL {4) NBTSL

The sum of the ages of a son and his father is 56 years. After 4 years, the age of the
father will be 3 times that of his son. Their ages respectively are

(1) 12 years, 44 years (2) 16 years, 42 years

(3) 16 years, 48 years (4) 18 years, 36 years

3 (P.T.O.)
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12.

13.

14.

15.

(336)

@ dgH h I oI I T B o3m W Hig 56 I ) AR W@ F 9w wed + Fa H om
¥ A TR S R, F SR S A 3\ wE B

) 12 ¥, 44 TS 2} 16 916, 42 T

(3) 16 &, 48 [ (4) 18 ¥, 36 9

The difference between the interest received from two different banks on Rs 500 for
two years is Rs 2:50. Hence the difference between their rates is

3 ¥ ¥ WW g I @ SRR 500 Fo W 250 To ¥ N I =N q F 0 ImR 27

(1) 1% (2) 0-50% (3) 2-50% 4) 0-25%

A whee] makes 1000 revolutions in covering a distance of 88 km. The diameter of the
wheel is

w ufgay 88 frole # gl w3 # 1000 W o R, T@ IR s R

1 24 m {2} 40m (3) 28 m 4) 14 m

The area of the largest tria'ngle that can be inscribed in a semicircle of radius r is
& qfi-gfber % IFq WM WA aen "ed aw B, W fE or oodsym w1 R, @

(1} 2rem? @) r?cm? (3) &r (4) 2nr

In a certain code, 33946 is coded as PPOAL and 1987 is coded as ROSE, How is 94678
coded in that code?

T %2 § 33946 B PPOAL W8 1987 # ROSE % &9 # fo@r 7 %1 94678 & F@ ¥
A v wr fm@n?

(1) ROSEP (2) OALES (3) POALE (4) OSEPL
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Spot the stranger in the following
{1) Ginger (2) Carrot {3) Tomato (4) Sugarbeet
fafafae 4 @ st #19 R gt

(1) IEH (2) TSR {3) @AY (4) TGP

Find the odd-one out of the following

(1) Rose (2) Marigold (3) Lily (4) Lotus
frfofg § @ ek f 319 o & orem 2
(1) = (2) wmes (3) feredt (4 A

Choose the group of letters which is different from others in the following
fafafaa & @ 95 ve=tR f6 o ®F-w weg 1 @2 7, W f5 s @ srem 2

(1) ABD (2} HIK (3) VWZ ' {4) QRT

The missing term in the following series is
frafafaa dilst d4 g1 gan 3 @
_ 0, 6, 24, 60, ---, 210
(1) 117 {2) 119 (3) 120 {4y 126

The first Republic Day of India was celebrated on 26th January, 1950. The day on this

date was
(1) Tuesday (2) Wednesday {3) Thursday {4) Friday

YId 1 YuH TEA fGEm 26 swEfdl, 1950 ® gaEn T AN 3G af@ W -9 ) 91?

(1} HTeE™ (2) guan . (3) geEfaan (4) IEHIR

{P.T.0)
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Directions : Choose the number which is different from others in the group.

dw . Trafafige § @ 30 9w & ggailHw, S fF o @ atemr R
21, (1) 12 (2) 25 (3} 37 (4) 49
22. (1) 48 (2) 12 (3) 36 (4) 59

23. In a group of cows and hens, the number of legs are 14 more than twice the number of
heads. The number of cows is

Tt g gRfE % w wgE ¥ T 6 gEn v R R e F R 8 14 afve 2 et
e 2? ' :
(1) 5 (2) 7 (3) 10 4} 12

24, A worker may claim Rs 135 for each km which he travels by taxi and Rs 5 for each km

which he drives his own car. If in one week he claimed Rs 500 for travelling 80 ki, how
many km did he travel by taxi?

T FHAa) T g Ann & fau 15 To 9l oo W o S R @ A w1 ¥ fau
5 %o 9fd TRotfto =1 T s whan g1 ARG frdt ws @R & 80 fotfic o F U 500 30 =
wm_%,ﬁmﬁ%ﬂﬂmfﬁﬁﬁ%otﬁoﬁmﬁ?

(1] 10 (2] 20 {3) 30 (4} 40
Directions : Find the missing character from among the given alternatives.

frdw : fou o fwedt § @ 92 gu ofF H T R
7 5
25. & -
5 3
(1} 25 (2) 37 (3) 41 (4) 47

(336) 6
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Section—II
wug—II

CHEMISTRY
(Compulsory for all)

26. The highest strength of acid is shown by
(1) CCl,COCH (2) CHC1,COOH
(3) CH,CICOOH (4) CH;COOH
gad it smw B ftgan
(1) CCl1,COOH # & (2) CHCI,COOH # 2

(3) CH,CICOOH # 2 (4} CHZCOOH # R

27. Which of the following is a fertilizer?

(1} Gammexane and urea {2) Gammexane and DDT

(3} Urea and DAP (4) DDT

T A FH-W ER R TR TGE QT 27
(1) TR st gfen (2) T=d= s DDT
(3) g st DAP (4) DDT

28. PDB is p-dichlorobenzene. It is used as
{1 fun?igating. soil (2) pesticide

{3} insecticide (4} fertilizer

(336) 7 (P.7.0)
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PDB p-SEaaRie~i ?| @& Jgan
(1} @7 * wpiie o § @ @ (2) I<mEs & wum g @
(3) IVFHEEE F TIHA A4l B (4) T% & GuH BT 8

29. Which of the following outer electronic configurations is correct?
(1) For Cu* : 3d!%4s! (2) For Cu : 3d%4s?

(3} For Cr : 3d*4s? {4) For Fe™® : 3d5

T w-w el ARiPE-faw $ R owd 20
(1) cu’® & fag 3d1%4s! (2) Cu % Ty 3d%4s?
(3) Cr % ™ 3d44s2 (4) Fe*® & foq 34°

30. Which is incorrect for the oxidation states?
{1) Cr has 6 in K,Cr,0, as well as in K,CrO,
(2) Co has 3 in [Co(NH,)g]™

{3} Ni has zero in Ni{CO},

(4) Ni has 2 in Ni(CO},

Toa T feife feraven TR o 27

(1) K,Cr,0, 3 K,CrO, ¥ Cr A 6 %
(2) {Co(NH3)g]*3 & Co #it 3 2

(3) Ni{CO}, ¥ Ni H 3= R

(4) Ni(CO), # Ni # 2 R

(336) 8
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31. Which of the following is correct?
(1) Glucose is a monosaccharide
[2) Fructose is a disaccharide
(3) Starch is a polysaccharide while cellulose is a disaccharide

(4) Sucrose is a polysaccharide

9 g A A el 27

(1 TFE AESTES @

(2] HHRIT TEEFTTS B

(3) W= UelidHss R welh Aol SdeES 2
RIS CIE I IKIEESUS

32. Which is true for the pH of 1073 M aqueous solution?
(1) HClis 11 (2) NaOH is 3 (3) KOH is 11 (4) KClis 11
1073 M & Tt § o =1 D pH FrA-w B

(I} HCIL® 118  (2) NaOH = 3® (3} KOH® 11 ¥ {4 KCl= 11 23

33. Which of the following is incorrect?

(1) Internal pressure, (fE/dV); =0 for an ideal gas
(2) AG is zero at equilibrium
{3) For precipitation of MX, its ionic product must exceed its solubility product, K sp

{4) A catalyst lowers the energy of activation

(336) 9 (P.T.O.)
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TR A FA-91 T 27
(1) @ aedt Mg #§ sl @@, (9E/8V)y =0 gt @
(2) TGS W AG =0 a1 B

(3) MX ¥ Idiem ¥ R e sfE-pEea @ fada-ToEea K, @ sfs @
=Ry

(4) IoRs FfTa-o i gam w owH @B

34. Which of the following is not true?
(1) Transition metals have incomplete d-orbitals
{2) The isotopes of hydrogen are 'H, °H and °H

(3) CH,CHO does not give urotropine in its reaction with NHj
(4) Amines are basic in nature

T ¥ R M R0

(1) gishem a1g % d-orfeffem @ R o g 2

(2) TESNA F AW H, 2H okt 3H €

(3) NH, ¥ @y afufFn w CH,CHO qigidtw & 2ar ?

(4) oy s o # afew 9 @

35. Which of the following is true?
{1) PO gives H;PO, with water
{2) N,Og gives HNO; with water
(3) CgH;—OH is acidic in nature

(4] All of the above

(336) 10
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37.

(336

¥ & ¥-a1 a9 27

(1) P,O5 vl % @iy H,PO, o ¥
(2) NyO5 WMt % @ HNO; &at 2
{(3) C4H;—OH 7o # wHifgs g 2
(4) 39w ad

Which of the following is correct?

(}) The functional group R——(}Zzo is ketonic

@ IUPAC name of H—CO—OH is ethanoic acid
3} C;,H,,0,;, (Maltose) is monosaccharide

(43 Lactose (milk-sugar) is monosaccharide

TR § F9-1 g8 7

(1) BREFE-ug R——(I:=o HHF %_

{2} H—CO—OH % [UPAC 78 3MIsH e R

(3 C;,H o0, (FEd) A iFuse 2
(4 AR (qu-of) MegwTe @

Which of the following is correct?

{1} Lateral overlap of p, with p -orbital gives n-bond

{2} Einstein’s relation is Ax-Ap = %
vis
(3} DNA exists as single chain

¢4) Bond-order of He, :.%

11

12U/102/22 Set No. 2
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38.

39.

(336)

T W BE-T g R7
(1) W p, B p,-F6% & A9 T AeAW F x-S F@ 2

(2) TR H GERY Ax-ApEZh—%
T

(3) DNA 3%heft 39 o g
(4) Heza;ra‘i@-aﬁét%%

Assertion, A : The strength of ha]oge.n-substituted acids is in the order
FCH ,COOH > CICH ,COOH >BrCH,COOH > ICH 2COOH
Reasoning, R : Electron-withdrawing nature of halogens is in the order F < Cl<Br«1
{1) A and R both are correct and R is the correct explanation of A
(2] A and R both are correct but R is not the correct explanation of A
{3) A is true but R is false
(4) A and R, both are false

Assertion, (W) A : ¥R ghremdt i 6 dasm =1 #9379 @R R}
FCH ,COOH > CICH ,COOH > BrCH,COOH > ICH ,COOH

Reasoning, (%RW) R : 39I9H & oiagiT 1045 /Mg @1 %1 ¥ TR 8 F<Cl<Br<I
(1) A RN % & 3R A F o R &% wnor R

(2) Ao R 9% F ot A ¥ RC R 3w T R

B) A e fvg Ry ?

4 A IR R IE Tew §

Which of the following statements is incorrect?

{1) Atomic volume increases from Li to Cs

(2} Electropositive character increase.s from Li to Cs

{3) Valency of elements with respect to oxygen decreases from I to VII group

{(4) Valency of elements with respect to hydrogen increases from I to IV group and the
decreases from V to VII group

12
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WY ¥ -G TAq B 7

(1) q-3rged Li § Cs 9% =g 8

(2) == fagd 10 Li § Cs 9% Ig@ 8

(3) wH¥fer ¥ v @ ) Jwres/s0wwa 1 8§ VI 39 9% 954 R

(4) =YW & W wE ) fmrme/ddwea [ & IV QY o wed 2 RV @ VI QY 9
w3

Which is incorrect?
(1) Amine as well as ammonia both are protonated in their aqueous solutions

¥YNH, +H,0 < YNH% +OH™ (Y =R or H)

{2) Tritium is an isotope of hydrogen
(3} HCIO, is chioric acid
(4} H,S,04 is thiosulphuric -acid
=i ¥ FA-m e 27
(1) wnfa IR afEn 9t o & O o SR 99 €
YNH, +H,0 < YNH} +OH™ Y =R or H)
(2) ffeww smghm w1 ardard ¥
(3) HCIO, e s R
(4) H,8,0, utaawfes e &

For a p-electron, possible values of its azimuthal and magnetic quantum numbers are
(1} 1=0,1and 2, m=0,%1 and +2

2] 1=1, m=-1,0and +1

i3 1=2, m=-2-10,+1 and +2

=1, m=0+1,+2 and +3

13 (P.T.0.)
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T p-3Adgid & U gy qu ImtE wwew e 1 #
(1) 1=0,13% 2; m=0,+1 3R £2

(2) 1=1, m=-1,0 3T +1

(3) 1=2, m=-2-10,+1 3 +2

4 1=, m=0,+1+2 3/ +3

42. The order of a gaseous reaction A-» B is

~d[ A}
dt

(1) first if rate of reaction,

(2) first if hd;f} depends on [B]

—d[{A]

(3) first or second if rate depends on [B] or [B]?, respectively

~d{A]

(4) second if depends on [A}?

sfufsm A— B A sfifea =1 s

(1) wan 2 =fg "d;f],[A]Wﬁ*qﬁfm%

(2) Tum g Wi ._d{tA], [B] W foft & 2

d

(3) wAgER vem W fedfw € Al ‘dch]

- ,[BY @ [B}? w fasft & @

(4) fa?ﬁa%vﬁ_d;t‘“,m]?mﬁuﬁm%

(336) 14

is independent of initial concentration of [A]
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Which of the following is incorrect?

{1} Addition reaction takes place in C;H,

{2) Addition reaction takes place in C;H,

(3) Phenol is basic due to the presence of benzene ring

{4) Phenol is acidic due to the presence of benzene ring

T O HA-91 TAq & ?

(1) C,H, ¥ wdiwm fufran gt 2

(2] C,H, ¥ udwm e gt @

3) featar § st B 2 % Frw a% IfEE A @
(4) & & s f 8 & wRw g wfafes grar 2

Assertion, A : A solution of SrCl, will precipitate as SrSO, when mixed with dilute
H,30, '
Reasoning, R : If ionic product [St 2" | [SOi_ | exceeds its solubility product

(I} A and R both are correct and R i1s the correct explanation of A
{2) A and R both are correct but R is not the correct explanation of A
{3} A is incorrect while R is true

(4] A 1s true but R is false

Assertion, (S) A : SrCl, %1 991 § 919 H,80, % 96 § SrSO, %1 @iy m

Reasoning, (&RUT) R : 3R Tl AEH [OHES [Sr‘?*][SOi"]‘sﬂaﬁ IEERLIRLERT
A B AT R

(1l A 3R R gAt &% § 3t A & fog R 3% @ @

2} A 3R R T 3% ¢ 3R A & fou R &% o =) 2

(3) A TTd ? 3 R TE R

4 ATa2fFrg R R

15 (P.T.O.)
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45. Blast furnace is employed in the metallurgy of

(1) Pb (2) Fe (3) Ag 4} Au
e g fhw % aged § wm § o St R7
(1) Pb (2) Fe (3} Ag @) Au

46. Which one of the following is correct?
(1} Li and Mg do not form nitrides
(2) Be and Al show diagonal relationship
(3) Na does not give NaOH with water

(4) MgO is an acidic oxide

T & FH-a wd R?

(1) Li R Mg 715eRes 78l &9 &

(2) Be 3 Al ¥ THH-T=FY 8

(3) @femm ot & | NaOH w& a1 2
(4) MgO % wHifts afaardz 2

47. Mo is used as a promoter in the manufacture of NH;. A promoter
(1} enhances the rate of reaction
(2) enhances the activity of a catalyst
(3} retards the rate of reaction

(4) retards the activity of a catalyst

(336) - 16
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49.

(336)

NH, ¥ fg%# # Mo ©% WA J9 WY Tl 81 0% WA
(1) el i ofy =t werr @
(2) Fafere ¥ T0 R W 2
3) wfufga 6 ofs A T 2
(4) FOTHER F U W WA B

H,80, is manufactured by
(1) Haber’s process

{2) Chamber’s process

(3) electrolytic process

(4) double decomposition method

H,S0, &1 Ag%a=

(1) B gidm @ B 2

(2) S ¥@T A D

(3) FREgifils 99 ¥ a2
(4) el uEea Vuwg B AN R

12U0/102/22 Set No. 2

Assertion, A : Raoult’s law describes the behaviour of an ideal solution
Reasoning, R : Henry’s law describes the behaviour of a real solution

(I} A as well as R is correct and R is the correct explanation of A

(2) A as well as R is correct but R is not the correct explanation of A

(3) A is true but R is false
{4) A and R, both are false

17

(P.T.0.)
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Assertion, (SR) A : TSt 1 o Tk ey 9t F T &l Fa &

Reasoning, (FW1) R : B0 & o W 1@ 01d % 0 &I @@l 8
(1) AR % € 3t A & forw R &% w7 2
(2) A3 R A 9% € o A & fou R &% wrw aff @

(3) Ava R feg R 93 2
(4) A 3t R g4l me@ §

50. All the oxides of N, are
{1) N,O, NO and N,0;,
(2) N,0O, NO, N,O5,NO, and N,054
{3) N,O, N;O4,NO,, N0, and N;O5
(4) N;O, NO,; and N,O4
N, & QR wieoRey a8 §
(1) N,O, NO @21 N,O4
(2} N20, NO, N,O3,NO, 991 NyOs
{3) NyO, NyO3,NO5,N,O,4 @1 N,QOg
(4 N,O, NO,; 991 N,O4

(336) 18
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Section—II1

Gre—III

PHYSICS and MATHEMATICS

{Physics)

If a particle is projected at an angle of 60° to the horizontal with kinetic energy E, then
its kinetic energy at the highest point of its path will be

AR AR & 60° T F TR T B AU W E TR Fwi ¥ @ vatm fen owm g, A
38 FW ¥ TR % Iwow fomg W oIEH TR St Rt @y

3E V3E E
Y {2) 5 (3) = (4}

A particle executes simple harmonic motion with an amplitude A. The displacement at
which the kinetic energy is equal to twice the potential energy, is

wwwmﬁnﬁAm%m.%twmﬁﬁwmﬁmmnﬁamfmﬁ@ﬁm
et & grt drft, Fn dme

A A (4) L4
3

(1} £ 2 =+ 5

{3) +

Al

A man is standing on the edge of a circular platform rotating about its central axis. If
the man walks towards its centre the angular velocity of the platform

{1) does not change (2) decreases

(3) increases _ (4) is halved

I FH N W OO W @ JOER WeEd ¥ U R W g R @ewd g h e
I o WIHE F O A :

(1) =& =g (2) ©Z SR

(3) s SR (4) T SR
19 (P.T.0.)
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54.

55.

56.

(336)

Assuming the earth to be a solid sphere of uniform density the weight W of a body on
earth’s surface will change to the following value at a depth halfway to the centre of
earth

mq@ﬁwmmwﬁwwm,ﬁmﬁmmwwmﬂﬁwwm
FaE aM g * dEa fraw gme

amy ¥ 2 ¥ 3)

w w
2 4 8

@ =

A material wire of length L and area of cross-section A behaves like a spring on
stretching it by small length. If Y is the Young’s modulus of its material, the spring
constant k is given by

R Y I qgEE A AW H L @S AN A PR FE AN qR GaR § e @ W ow
Ff f We FIEK WA &, @ IWF FAE FBRIF k = AR T QY

2) k%‘f @ k=Y2 @ T

L 2A

1

>

(1) k

Hydrogen and oxygen gasses are kept separately at the same absolute temperature.
The kinetic energy of oxygen melecular will be

(1) the same as that of hydrogen molecule
(2) 4 times that of hydrogen molecule

(3) 4th of the hydrogen molecule

{4) 16 times that of the hydrogen molecule

WM FEGIH a1 AT N ST T A ww a0 W wh T A A o oy
i St |

(1) TRENA % us ] H e I F W @f
(2) TRGSH & TH Iy A MW e A g @nh
(3) BESNA F TH Y K Mow we K TF S @l
(4) TEGA F TF A f S S B dreter Beh

20
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A system can be taken from the initial state (P, V) to the final state (P,, V) by two
different methods. If AQ and AW represent the heat given to the system and work done
by the system respectively, then which of the following quantities must be same in both
methods?

wh e W 9 A il (P, v @ gEd e (P, v,) ¥ @ sream-aem ol @ @
SR Shoaddl R1 AR AQ WM AW FHW: wEEn B @ g I qw s gr R gl
g, @ fra & @S- ofy 2 ol § e {de

(1} AQ (2) AQ -AW (3} AQ+AW 4y AW

A liquid cools from 70 °C to 60 °C in 5 minutes. The time taken by the liquid to cool
from 60 °C to 50 °C assuming that the temperature of the surroundings remains
constant is : '

TS 29 70 °C B 60 °C o 3T RA H 5 e & o9 Qa1 31 9 g9 60 °C @ 50 °C o%
3 A F FRe @9 AW SR 98 W W e § TR m@ % 9R awe @ avee @R @ R

{1) 1 minute (2) 3 minutes (3) 4 minutes {4} 7 minutes

A heat engine operates between cold reservoir at room temperature 300 °K and a hot
reservoir at 500 °K. If this engine takes 300 J of heat from hot reservoir, then the
maximum amount of the work done by this engine is

TF 49 599 3T oM F3 S R FROH e (300 °K) W R a3 I %3
foaa ammE (500 °K) § % weg @ W 21 9 AR 399 W w@vE §8 & 300 J s o
R, @ T grt ifue @ It o = frem @n?

(1) 120 J (2} 180 J (3) 60 J (4) 240 J

Charles’s law holds for an ideal gas during
{1) isothermal change {2) adiabatic change

{3) isochoric change {4} isobaric change

21 | (P.T.0.)
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61.

62,

63.

(336)

wed @ fraw fdt omedt o % TR faafafege 4 @ g o & wfada & @ @@ &7
(1) s Sied (2) TaesT afEdT
(3) TeTEafE afada (4) wHge® afeEd-

Two thin lenses of focal lengths f; and f, are placed in contact. If the axis of the two
lenses is the same, then the focal length of this combination of lenses is

fi BN f, BeRE g0 9@ D TqS OF 0F g A TR W@ T | 7R 3 W ¥ 99w @
#, @ 30 wge a8 & wiww gt e geie

1 2 / 3 4
() 2 @ Nz @ fif2 @ fi+f2

A thin layer of kerosine oil floating on the surface of water shows beautiful colours in
day light due to

(1) interference of light (2) diffraction of light

(3) polarization of light (4) dispersion of light

Tt i g R 9@ B @ Toeht WA gd H Qe F ego @ g o B ow
fead 27

(1) ¥FmW F =AfGH | (2) v ¥ faeeq @

(3) TEIW F gAFw (4) wbmr % foque @

A solenoid has an inductance of 50 Henfy and a resistance of 30 Q. If it is connected to
a 100-volt battery, then how much time it will take for the current to reach half of its
final steady state value?

o gienfeeen, fseea T 50 30 dw iy 300 € 100 V 9t St @ Wiw o R, @
T % 9 ofme § f@R sowen ¥ o@ Tl gt B ondd frpe wm oW A oww wA A e
A N

(1) 1-45 sec (2) 1-15 sec (3) 1:35 sec {4) 125 sec

22
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64. If an X-ray tube operates at 500 kV, then the shortest wavelength of the X-rays
produced (given h =6.62x1073% J/sec) is

gfe fadt X-fetor aforem = 500 kV § =i Smal §, @ 398 IO B aeh X-frot 6
FH--F0 aeed @ am? (fam ™ h=6-62x1073% J/sec)

(1) 025 A (2) 0-125 A (3) 062 A {4) 035 A

65. On forward biasing a P-N junction diode by 1 V its depletion width

(1) decreases (2) increases

(3) remains unchanged {4) disappears

T P-N @9 g/ie &t 1 V i amg & w 3o s@ed &w
(1) e Sm @ () =g wwr @

(3) #% s T v (4) w5H & I R

66. Kirchhoff’s voltage law for closed path in an electrical circuit implies conservation of

(1) energy (2) momentum (3} charge (4} electric field
s w1 Aeea fram, s ol fogm Ry # d9w uy ¥ R ww S 2, FRed e &
afd sl B 7 .
(1 st (2) I (3) o (4) foega &=
67. The truth-table given below
Al BlvY
O ¢ o
0 1 1
1 0 1
1 1 0
is obeyed by
{1} OR gate {2} NOR gate {3) XOR gate {4) XNOR gate
(336) | 23 (P.T.O.)
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68,

69.

(336)

R & T gorar-gwref

- = O O

—_ Q2 = O [

S = = O

form & o ud@t 27

{1) OR W2 (2) NOR iz (3) XOR e (4) XNOR W2

The half-life of a radio isotope is 5 years. The fraction of atomns decayed in this isotope
in a period of 20 years will be

et Hetadt smseiem & snfshiem &1/ 5 af 31 20 a9 & o 4 W omARm F o
1 F-T AT afd & IRme

(1) & QR 2 @ £ (4)

Sl

The width of the interference fringes in Young’s double slit ex_periment increases on
(1) increasing the distance between the slits

(2} decreasing the wavelength of light used

(3) decreasing the distance between the slits and screen

(4) decreasing the distance between the slits

T & 3 8 axt wm F§ e & g st Sl ft e T ol § g e 82
() 3 fufat & da H 3 sgH W

2) ¥ d T A TE A TORA B B FE W

(3) fafwi qun @ F @ f T WA W

@) A frfel ¥ g D g TR W

24
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Which of the following statements is false about the Laser light beam?
(1) It is nearly monochromatic

{2) It is coherent

(3) It converges hardly at all

(4} It is very intense

o # 4 aF-w F9 oW Yo {9 & ol mem R?
(1) T @m wwHanfiy g R

{2) T FuEg (RER) e B

(3) 3@ ¥ wE wr R

(4) 98 WgT O9 B R

In a photoelectric experiment the maximum kinetic energy of the emitted electrons
depends on

(1) intensity of incident light
(2) frequency of incident light
(3) velocity of incident light

{4) duration for which light falls on the metal

TR dgd YA § IR widgeegq e faw et e w i st R0
(1) Aufed o™ & dFa |

(2) emufem e H ergft w

(3) emufaa v H g w

(4) ¥y W U AR TR F FE @E W

25 (P.T.0.)
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72. The series of spectral lines in the spectrum of hydrogen atom that lies partly in the
ultraviolet and partly in the visible region is called

(1) Balmer series (2) Lyman series

(3} Brackett series (4] Paschen serics

TG T ¥ dWagd § Wwgdt W@ A Ao aifiE s @ e 8w @ s & @
7% 49§ ot @ 38 A wEd €2

(1) @ zof (2) @wEwT Suft
(3) dwe Aof @) wEe Aof

73. Cadmium rods are used in nuclear reactors for
(1) removing heat energy
(2) slowing down the neutrons
{3) controlling the rate of fusion
{4) protecting the people near reactor from radiation
Freht ot qfer Rdwe § Sefrem @ 2w W@ B w7
(1) 397 Fo0 + @ F R
(2) =gt & nfg A FW FA F o@D
(3) wwww (WEF) 6 @ % FEhe =3 F fn
4) TR ¥ smaw@ T @t #@ AW A ghtc @ F A

74. Positron is called the antiparticle of electron because
(1) it has positive charge equal to the charge of electron
(2) its mass is equal to the mass of electron
(3} it is produced by collision of electrons

{4} it is destroyed by combining with electrons

(336} 26
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qisfigm ® soag @ B s =l wEd €7

.(1) HifF T W ToagH & TR 9Ty g

(2) iR R TEAM WA F AR % TR d 8
(3) FifF a% ol & T A ¥ Qe B

(4) waifs wg serega @ firemst 7E @ W @

75. The iron core used in the transformation is laminated because it
{1) increases the magnetic field
(2} increases th_c magnetic saturation of the core
{3) decreases the residual magnetization of the core
(4) decreases the energy loss due to eddy currents in the core
faet off TrEwoR A WY@ W F B A woell wEt @ TR S R i A"
(1) =g &7 ® Fq1 3t 3
(2) #N F gEE GqHAT B T T R
3) #R F mfie grawa =t @ W R
@) F ¥ =gt qrell G gst F FRW B 9 S 479 R B BT @

(336) 27 (P.T.0.)
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76.

77.

78.

79.

(336)

(Mathematics)

The value of x -[y~{z-{(x -y -2)}]is
x-[y~{z~(x-y-z)}] M WA B

(1) (x+y+2z) (@) (x-y~-2) (3} 1 (4) O

1+2¢

1-1

afty gem [11+2i] frad e 27

The complex number ( ] lies in

-1

(1} T quadrant (2) III quadrant (3) II quadrant (4} IV quadrant

The number of real roots of the equation x?% +x2 —1=0 will be
ofl x*+x2-1-0 % awafas ga @0

(1) 0 2 1 B2 (4) 4

A right angle AABC of which ~C is right angle, perpendicular CD is drawn from the

point C to the hypotenuse AB. Then the value of Cl 5 will be
D

qamahwmac,ﬁmm:czmzﬁrur%,ﬁgc@aﬁo‘?ABW@WWWCD%,@C;Z
1 o9 B

1 1 1 1
(1) 1 1

=—+ 2 = +
cD? ca? AD? @) cD? BC? ca?

g 1 _ 1 1 (4)1_1+1
Cb? (¢B? BD:? cD? cB? ca?

28
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80. 1If A B,C are any three sets, then Ax (B UC) will be equal to
I A, B,C € ag=m £, @ Ax(BuUC) ® 4H @M
(1) (AxB}n(AxC) (2) (AxB)U(AxC)
(3) (AUB}x(AUC) (4) (AnB)x(ANC)

81. The number of terms in the expansion of (p+g+r)'°? is

[p+q+r]10 F famr ¥ ‘Tﬁ # gE %

(1} 33 (2) 55 (3) 66 4) 44
82, If
afe
lim & =X -4
X xx _.aa

then the value of a will be

’cﬁa%]‘ﬂﬁ'ﬁ?ﬂ'ﬂ

(1) 1 (2) 0 3) e (@) i

83. The value of

a b ¢
b ¢ a
c a b
is
a b ¢
b ¢ al® AW R
¢ a b
(1} abe(a+b+c) (2) -a®-b3 -¢3 +3abc
(3) a®+b3+c® -3abe 4) a®+b? +c® +3abe
(336) 29 (P.T.O.)
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84. The factors of the expression x2(y-z)+y?(z-x)+22(x-y) are

=AH x2(‘g,f—z}+_r,'2(z—.vc}+z2 {(x-y) % TGS ?
(1) —(x~y)(y-2z)(z+x) (2) —(x-y)(y+2)(z-x)
) —(x-yly-2z}{z-x)} (4) -(x+y)(y-2){z-x)

85. If x>0,y>0 and x +y =18, then the minimum value of xy is
afe £>0,'y>0 M x+y =18, a Xy R " <[49H 2

(1 -2 2) ~1 3) 1 4 2

86. If
afe

y:tan"l( 2x J
1-x?

" then the value of ggi is
dx

il Z—i Eaficl
(1) —2 @ —2 @) tan? x (@) Ji1-x2)
(1+x“} 1-x

87. The value of
r:,’Q dx
0 (l+sin x)

is

In’fQ i = W %
0  ({l+sin x)

(1 4 2 1 (3) 2 ) o
(336} 30
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—> I ~ =D ) A M — a2y M - — —»
88. Ifa=2i-3j,b=i+j-k and ¢ =3i -k, then the value of a (b xc} is

b d A A A A - A A - =2 -
Afd a=2i-3j,b=i+j-k 3R c=3i-k, q a-(bxc)H X &

{n o (2) 4 (3) 6 4 14

89. The solution of the differential equation {xy1+y?)dx+{yv1+x?)dy =0 is

ST THEO {xl+y° ) de+(yV1+x?)dy =0 W ¥ B

(1) tan'y+tan ' x=¢ {2 log (1+y2)+log{l+x2)=2c
3} Ji+y2 +vi+x2 =¢ (4} sin'y+sintx=c

90. The value of

$in6 -2sin° 9

2cos> 8 —cos B
is

. _ . 3
sinf -2sin” @ # 7 2

2cos® 9 -cos6
{1} cotg {2} sect {3) cosecB 4} tand

91. The equation of a straight line which is drawn parallel to the straight line x -4y -2=0
and passes through the point {4, 3) is

fog (4,3) @ W1 x~4y-2=0 % AW @it T @ & T g
(I} x-4y+8=0 (2 x+4y-8=0

(3) x+4y+8=0 4 x-4y-8=0

(336 31 (P.T.0.)
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92. The value of

1:73x1-73x1:73+0:-23x0-23x0.23
1-73x1.73-1-73x0:23+0-23x0-23

is
1.73x1-73x1-73+0:-23x0:23x0-23

F AE R
1.73x1-73-1-73x0:-23+0-23x0-23

(1) 4 2 3 (3 2 (4) S

93. The height and shadow of a man is equal in measurement. Then at this time the angle
of elevation of the sun is

T IgE B S8 o wer A4 wmw A i 59 @ d 39 g g # I9E wvoam
‘(1) 90° (2) 60° (3) 45° (4) 30°

94. The standard deviation of the terms 11, 14, 15, 17, 18 is
11, 14, 15, 17, 18 wd@ & yMs fogem 2

(1) 24 2 2 (3) 25 4) 26

95, The sum of the series

Fofy
(1—~1—J+(1—~g)+(1—§)+—-- ton
n n n
terms is
@ % W ATEd @
n+l n-1 nin-1) nin+1j
{1) 3 {2) 5 {3} 2 {4)
(336) 32
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If the arithmetic mean of two numbers is 5 and the geometric mean is 4, then the
harmonic mean between the numbers will be

afg § Emsll : R wew 5 R O T 4 €, @ A demelt W osuers W g

1) 3 2 32 (3) & @ &
If v2 =1-414, then the value of V10 -5 is
75
iz V2 =1-414, A V10 -5 oA R
J5
(1) 1 2) 2 (3) 0212 (4) 0414

A fort had provisions for 750 men for 45 days. After 10 days 125 men left. The
remaining food will last at the same rate for days.

ok g A 750 Jefirt % faw 45 T R few s oM 10 RR & w125 e @ W,

@ I R/ w Ay N T oaF gemm

(1) 42 (2) 50 (3) 36 @4} 60

The mapping {(q, 1), (b, 1), (g 1}, (d, 1}} will be
(1} many one mapping (2) constant mapping

{3) onto mapping {4) many one onto mapping

C{{a1),(p, 1), (e 1),{d, 1)} T Fem gm

(1) =g-u= wfafam (2) e whfumor
(3) oreerEH whafaAwr (4) wE-UFH resEE NiafaEw

33 (P.T.0.)
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100. When two dice can thrown together, the probability of getting the number greater than

7 will be

2 ofdl B = Gy e W 7 § ofUw ofw o f wiikerar St

v % @ & ® & @ 2
(336) 34
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Section—IV
gies—lIvV
BOTANY and ZOOLOGY

(Botany)

101. Organic fertilizer used in agriculture is

(1) ammonium sulphate (2) potassium nitrate
(3) urea (4) CAN

FR 7 e 93 dw 2

(1) wifm wehe (2) Wefmm W

(3) g (4) CAN

102. Which stage of mitosis has lbngest duration?
(1) Anaphase (2) Metaphase (3) Telophase {4) Prophase

fRiffee #1 -t 9w waifite awf safy = gar 27
(1) TS (2) B (3) @ES (4) WS

103. Panama wilt disease is found in

(1) papaya {2) mango {3) banana (4). peach
T faee I e urar S 27

(1) gt (2) Im (3) hen (4) =

(336) 35 (P.T.O.)
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104. Acidic soil is reclamated by addition of
(1) gypsum (2} pyrite (3) staked lime (4) sulphur
el gar & fohgeh fisor § gam s awaT B7

(1} Trm (2) U (3) W¥s ogH (4) ok

105. A seed is

(1} a female gametophyte {2) a mature pollen tube
(3) a mature ovule {4) an immature embryo
a9 ?

(1) e MHreRe (2) dium et

(3) g semwg (4) omRus yo

106. In Bt’ brinjal, Bt’ is

(1) biotechnology (2) Bacillus utilis
(3)' an improved better type {4) Bacillus thureingiensis
T Bt §m ¥ ‘Bt @ fimm 2
(1) o T (2) e Ffefer
(3) @ faeRe dEa fee (4) e egireiIfm
107. Peint mutation is
(1) loss of gene (2) change in a base of gene
(3) addition of gene (4) deletion of gene
frg ihd 2
(1) S =1 o (2) S % T amw § afeda
(3) S F HIH (4) s = R
(336) 36
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113,

(336)

Oryza sativa is the botanical name of

(1} bajra (2) wheat (3) maize
st dRar Traw ol T 27
(1) =TS/ (2) (3) W=

Bourdeau mixture is

(1} herbicide (2) fungicide {3) pesticide
EIGEREE LI

(1) gl (2) wfmre (3) Wfers
Indian Council of Agricultural Research is located at
(1) New Delhi (2) Nagpur (3) Lucknow
e AfRXE e Wieeae fad i oaftm 27

(1) 7 fgh (2) R (3) W&
Mosaic disease of potato is caused due to infection by
(1) fungi (2) virus {3) bacteria
SRl F w1 e SO @ A 37

(1) (2) frmy (3) aFdfen
Tikka disease is observed in

(1) groundnut {2) maize {3} potato
fom {m R arn s 30

(1) e (2) v (3) T

In India maximum guava is produced in the State of
{1) Uttar Pradesh (2) Orissa
(3} West Bengal (4) Bihar

37
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{4}

(4)

{4)

(4)

(4)

(4)

(4)

{4)

(4)

4

paddy

weedicide

difsarss

Kolkata

EAREan

Protozoa

Tt

sugarcane

(P.T.O)
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g § ovee HY gaiftw 39w fea ta # AR &0
(1} F W™ (2) snfen (3) wfvem e (4) forem

114. Mangifera indica is the botanical name of

(1) papaya (2) mango {3) litchi (4) grapes
dfrka fewr feae ameufas Tm }7
(1) wia (2) om (3) efish (4) 3R

115. The edible mushroom is

(1) Agaricus bisporus (2) Fomes lividus
(3) Daedalea flavida (4) Polyporus zonalis
- TS FFE R

(1) sroftew faemg (2) wiwg fofaey

(3) ST wiHasT (4) yleorE sETlerd
116. Early blight disease of potato is caused by

(1) Phytophthora infestans (2) Penicillium notatum

(3) Curvularia lunata (4) Helminthosporium oryzae

I H oAl =g U fFuh FRw @ar 87

(1) 5T ey (2) MRk N

(3) FAARIT AT 4) Bfcreeaifag sifsht
117. Aﬂatoxin in foods and feeds is produced by

(1) Saccharomyces cerevisae {2} Ganoderma lucidum

(3) Asperygillus flavus (4) Helminthosporium oryzae
{336) 38
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119.

120.

(336)

T et ¥ iR RS '
(1) FmRIAERS qiad!
(@) T W

The fertility of soil is reduced by

(1} crop rotation

(3] intensive agriculture

e A I g ek g R ® A 7

(1) o =%

(3) TR Fh

A mycorrhiza is

{1) fungal disease of root

(3) mycoparasite fungus

TH AIEHITE

(1} ¢ & Fam U

(3) "ERRREEH B

The bast fibre of jute is

{1} secondary phleem of stem
{3) ground tissue of stem

S F AR BT D

(1) ™ = e velem
(3) @ @ = sew

39

)
()

{2)
{4

(4)

(2)
(4)

(2)
(4)

2
(4)

(2)

{4)
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Areni gfaew
Bl s

nitrogen fixing bacteria

decaying organic matter

Trggre iRy At
o yeref #1899

parasitic mold

fungus-plant root association

Yol dics
F9F W@ N H g w7 g

secondary xylem of stem

pith of stem

1 =1 fgdlas oean
W = Ry

(P.T.0.}
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121. Minamata disease is caused by ingestion of fish contaminated with

(1} mercury compounds (2) sulphur compounds

(3} copper compounds (4) phosphorus compounds
firmrer Im =1 wRk R TRE% g0 GEfa oeh w1 de?

(1) wR = R (2} MU W D

(3) dfd w1 D (4) BIEERE F s

122. The arid areas have mean annual precipitation values up to

g &% § afts oftwd gfva fem wen @ drar 27
(1} 200 mm (2) 500 mm (3) 750 mm (4) 1000 mm

123. The largest and important soil group of India with special reference to agriculture is

(1) alluvial soils - {2} black soils

(3) red soils (4) laterites

FN & o gof 1 wra o waifts g5 W TH@ gg-wgg A-m 27

(1) g qa@ () F=1 7@ (3) @ T (4) e
124. Mulching is the effective measure

{1) of water conservation in soil (2) to prevent soil erosion

(3) to increase scil heating {4) to sterilize soil |

#fewn forgant s A9 27

(1) 7@ ¥ 9 & G * (2} TET-3RU FH Ut

(3) TS &1 AEHN AqGH H (4) & R AN FE w

125. The post-harvest losses in mango are
wW # wEd % 9 hl g A oAen g 20

(1) 25-40% (2) 30-55% (3) 50-65% 4) 60-85%

(336) 40
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{Zoology)

126. Silk produced by silkworm consists of proteins known as

(1) actin and myosin (2) albumin and globulin
(3) fibrin and fibrinogen (4) fibroin and serisin
m HRE R IAfed W H e IR aw e w R s § S o 27
(1) Fm o wfm (2) T @ =gl

(3) Toism wd T (@) e @ aftfm

127. Which one of the following groups of insects does not show social behaviour?

{1} Ants (2) Honeybees (3) Termites (4) Beetles

fofafas Fe-vqd § ¥ F9-T 9 Yl IR w9 A& Far?

(1) i (2) wyHReat (3) & (4)
128. The lowest rank in systematics is

(1} class (2) subclass " (3) order (4) species

Tfiew ggfa § Femm =ife 2

(1) =i (2) Iyt (3) R (4) wenfa

129. The average lifespan of mammalian RBC is
{1) 30 days (2) 60 days (3) 90 days (4} 120 days
warlt SfiEl & aododio it oftmd oy ToRadt AR 27

(1) 30 f& (2) 60 f& (3) 90 fex 4) 120 f=

(336) 41 (P.T.0.)
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130.

131.

132.

133.

134.

(336)

Tendons are mainly composed of

(1) actin (2) collagen {3) elastin (4) myosin
e geaa: fhas g ffls @ €7
(1) e (2) wrwEA (3) wafReA (4) wARA

The inactive form of an enzyme in known as

(1) coliagen (2) morphogen  (3) phosphogen  (4) zymogen
TR (FvaE) * TR ey ® SET S 8 |

(1) WA (2) FTHRA (3) HEPRE (@) e

The number of antenna in cockroach is

{1) one pair {2) two pairs (3) three pairs {4) four pairs
foerad & @71 H e Al 2
(1) @ W (2) 3 Im (3) dF W (4) =W I

The science concerned with the improvement of living conditions of human beings is
known as

{1} bioinformatics (2) genetics {3} eugenics (4) euthenics
wHa H Sfe-Telt § guw @ deg foym # Rew w0 § 90 o 27
(1) wEgEfTg (2) IAfew (3) T (4) f=m

In anaerobic glycolysis pyruvic acid is converted to

{1) citric acid {2) lactic acid (3) malic acid (4) succinic acid
oXifer e TR o e A @ fred eohe @ w27

(1) sfs e (2) RS PR (3) AWew e (4) ufRibe o

42
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135. A developmental process in which a tadpole changes into a frog is known as

(1) metastasis (2) metagenesis

(3) metamorphosis | (4) metapophyses

It F Aew F w0 A dfefda @7 i TEa-vfEn ) am S g

(1) dewfm (2) Wenrfea (3) TeWIHIGG (4) TR

136. While studying laws of inheritance one of the traits not studied by Mendel was
{1) coelour of flower : {2) colour of seed
(3) position of flower (4) size of seed
mwﬁm%wﬁ%mﬁawmmqﬁﬁmwm?
(1) g9 & @ 2) iz = @

(3} T F oTEEn (4) s | AR

137. The cytoplasmic organelle which contains DNA is

(1) Golgi body {2} lysosome (3) mitochondrion {4) ribosome
oTHolo B T TREIwfols AT &
(1) Tt =i (2) wEEEE (3) WERHIGE (4) T

138. Which one of the following is not a fish?

{1) Dogfish {2} Lungfish {3) Rockfish (4) Siiverfish
ﬁﬂf\aﬁaj & ®F Aol T ¢

(1) =i few (2) < few (3) U= frwr (4) fireer T

(336) 43 (P.T.0.)
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139, Wax gland is found in

(1} beetle {2] cockroach {3] housefly {4} honeybee
I Uy femd o wft 37
(1) §m (2) foremg (3) el (4) wgTeE

140. Kaziranga National Park is well-known for the presence of

{1) elephant (2) lion (3) rhino {4) tiger
Ffom iy gam e S| & il $ o wfag 20
(1) e (2 M| (3) e (4) <

141. Which one of the following functions is carried out by Malpighian tubules of insects?

(1) Circulatory {2) Digestive {3} Excretory (4} Respiratory
freafafen & & a9- v HiF F il SEew o fen s 22
(1) Hag (2) A (3) ISty (4) W

142, The fat cell is known as

(1) Adipocyte {2) Chondrocyte  (3) Leucocyte {(4) Melanocyte
a1 PR B B w9 § o o 27
(1) Wedere (2) +graRe (3 TgEER {4} FenarErR
143. Which one of the following cells does not circulate in blood?
(1} Red blood cell (2) White blood cell
(3) Thrombocyte {4} Mast cell
(336) 44
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145.

146.

147,

(336}

ir § foafafad 3 @ - Ffie oeeia 78 a4

(1) <ifes w Hifee (2) Y9 Toh R
(3) wiase (4) =R =i
The end of a chromosome is known as

(1) chromomere  (2) micromere (3) sarcomere
FST F offon R w1 few w9 § Fn A #7

(1) HAARR (2) W= (3) TR

The study of insects is known as

(1) embryology (2) entomology (3) gerontology
Fre-oroT F A T |

(1) e (2) uErErsh (3) ITRrersh
Chitin is found in the exoskeleton of

(1) insect (2) reptile (3) mammal
fafer fras s afasr & o S 20

(1) # (2) Ty (3) TR

Cyclic AMP is second messenger of the hormone

{1) adrenalin {2} cortisone (3) oestrogen

ghia ToWodlo Torg giutt =1 fidfi ames 27

(1) WaRA (@) S (3) TR
45
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(4)

(4)

(4)

telomere

TefirR

herpetology
LGRS
mollusk

AR

thyroxine

yrRi T

(P.T.0.)
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148, Which one of the following is an anticoagulant?

(1) Heparin (2) Interleukin {3} Plasmin {4) Lymphokine
Frefafgg § & #19 w whew T8 87
(1) 2wfe (2) ol (3) e (4) fompram

149, Which one of the following insects is used to check the growth of cacti?

(1} Cochineal (2) Lady bug

(3) Praying mantis {4) Tiger beetle

S ) gfg w Fraa ¥ foo ffafas § @ fFa e s s fFr w37

(1) =rfafaa (2) @< =m (3) ¥m dfw (4) TR AiRea

150. Which one of the following is an immunodeficiency disease?

(1} AIDS (2) Diabetes (3) Malaria {4} Tuberculosis
frafafge % @ ®F-a1 W1 An-wfelia & 9@ @ I9F B 87
(1) == (2) wyde (3) weifear (4) wEm

(336) 46
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154,

(336)

Section—V

gug—V
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AGRICULTURE

Nitrogen is taken by the plants in the form of

(1) chloride {2) oxide
T fee v ¥ del g forn S 27
(1) FAES (2) FAFE

Sunflower belongs to the family of

(1) Compositae (2) Solanaceae
AUE g sian & w5 g7
(1) Ffed (2) T

Botanical name of Indian cotton is
{1} Gossyptum compestris

(3) Gossypium hirsutam

WREE FIE W aEE A}

(1) Tiufem SFmfega

(3) M fegen

The deadly disease of groundnut is
(1) tikka

(3) powdery mildew

47

(3)

(3)

(3)

(3)

(2)
(4)

(4)

2

4

nitrate (4) nitric acid

MEYE (4) TEidE W

Leguminosae (4) Malvaceae

A (4) wreaEt

Gossypium arborium

Gossypium barbadence

miafen amafam

mfafem IRER

damping off

anthracnose

{P.T.0)
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Yreelt =1 wteF AT wH-TT 27

(1) femm (2) o8 famrem

@) ghfer snfer (4) v 3o
155. Khaira discase is associated with

(1) wheat (2} paddy {3) maize (4} barley
o U fre @ gmfig 20

(1) (2) 9 (3) w=T (4) st
156. The chromosome number in bread wheat is
e I A F fFa qumg o S §7

(1) 22 (2) 32 (3) 42 4) 62

157. Growing of a crop after the failure of main crop is called

(1} cash crop (2) cover crop (3) catch crop (4) trap crop
S &7 BOd TE B S 8, @ IME W A FhS A T wed 87

(1) * w9 (2) TR wEA (3) ¥ wEE (4) 29 wEa

158. Soybean is a

(1) long day plant (2) day neutral plant
(3) short day plant (4) long short day plant
aaET } O
(1) ¥ wwmmsft dar (2) Fe w e = w1 vvye 18 awn s 2
(3) sru FwmTIaft der (4) Ad-3req yETEmdah dar
(336) 48

https://www.freshersnow.com/previous-year-question-papers/



159,

160.

161.

162,

163.

(336)

Cotton is

(1) cross-pollinated
(3) self-pollinated
I R

(1) Wi

(3) =t

Which of the following is C,; plant?

(1) Wheat (2) Barley
= § W C, T #?
(1 2 R

Fruit of mustard is known as
(1) berry {2) corymb
T T FeA@ B

(1} & (2) =

(2)
{4)

2)
(4)

(3)

t3)

(3)

3)
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often cross-pollinated

often self-pollinated

Ff-wfi W@

woft-wft wyufE

Rice (4) Sugarcane
um (4) ™
siliqua (4) catkin
foetimt (4) el

In waterlogged area which gas is found abundantly?

Sataq &9 ¥ #e-H W qe w6 @ i 27

{1) CO, (2) CH,

Loquat is a fruit of
{1) tropical fruit
{3) arid fruit

dre F-T T 2
(1) 31 &

(3) Y= w

49

(3)

(2)

)

(2)
(4)

CO 4 O,

subtropical fruit
temperate fruit

I A
e s

(P.T.0.)
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164. Phalsa belongs to which family?

{1} Rutaceae (2) Moraceae {3) Leguminosae {4) Tiliaceae

e frg wfar w1 wae 27

(1) = (2) =R (3) Wi (@) Rfeeh
165. Apple scab is caused by

(1) Venturia inaequalis {2) Mycosphacrella sp.

(3} Penicillium expansum (4) Trichothecium roseum

49 e fa wR0 g 27

(1) i Frekfem (2) TR o

(3) Y sF=m (4) TR dfem
166. Fruit cracking in litchi can be reduced by the spray of

(1) zinc (2) magnesium (3) copper {4) boron

ot % o Rore I R P foge g W R w1 e 7

(1) (2) AR (3) FR (4) @i
167. ‘Hen and chicken’ a disorder is observed in

{1) mango (2) avocado (3) grape (4) litchi

T i e’ A fewd o smn 20

(1) m (2) e (3) ¥R (4) o
168, Aroma of overripe banana is due to

(1) diallyl propyl (2) isopentanol

(3) hexanol (4) allyl propyl

afd % Fa F giiv frw ww o R

(1) ersford Suwd (2) HAEETeET

(3) T (4) U SITEe
(336) ' 50
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170.

171.

172.

173.

174.

(336)

The pigment responsible for coloration in papaya is

{1) chlorophyl (2) carica xanthin

{3) anthocyanin (4) carotene

it 1 W form wEor g 20

(1) "o (2) i MR
(3) weltaTEA (4) FE
Which of the following is a rich source of fat?

(1) Almond (2) Mango (3) Cashew
frfaflas 4 s+ /o1 @i FH-T 27

(1} =M (2) o™ (3) =

Richest source of vitamin C is

{1) citrus (2) guava (3) banana
faafim ¢ =1 o8 oot Wa w-m 20

(1) e wflg wa  (2) s (3) Fem
The most susceptible fruit to waterlogging is

(1) banana {2) guava {3} mango
AHF TAGRE & ¥ FARE Y 9w v @

(1) en (2) awTEq (3)

Botanically the ber fruit is

(1} berry (2) drupe. (3) pome

TAefiE ®9 ¥ AT BA F4qT 7

(1) &= (2) TR (3) @

A stem vegetable is

(1} carrot {2) knal-khal {3} sweet potato
51
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(4}

(4)

(4)

(4)

(4)

(4)

(4}

@)

Walnut

aonla

papaya

e

nut

radish

(P.T.0.)
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TE 9T gesit g
(1) TR (2) Tz Tnft (3) TG (4) it

175. All cole crops belong to the family

(1} Cruciferae {2) Brassicaceae (3) Umbelliferae (4) Solanaceae
oft Mt arffa’ wuel fFa ofam o andt €7
(1) FEHa (2) weiwd (3) it (4) GICEL]
176. Amaranth is plant
(1} C, (2) CAM 3} C, (4) None of them
end Fa-ar dar 27
(1) C, (2) CAM ' (3) Cq4 4) T8 ¥ w5 &
177. A cucurbitaceous crop considered to be perennial is
{1) parval {2) chow-chow (3) snakegourd {4} ashgourd
i wffa weet § RA-d wee agata
(1) & (2) IF-TH (3) ffa= (4) w3

178. Blossom end in tomato is caused by the deficiency of

(1} calcium {2} rmagnesium (3) boron {(4) iron

R ¥ g farem I fea a R -3 grar R?

(1) Ffeem (2) #dfifsrm (3) A (4) R
179. Edible portion of melon is

{1) endosperm | (2) mesocarp {3} receptacle (4) seedcoat

S F @R A A A 27

{1) ¥omN (2) Teawd firh (3) feadww (4) d=E
{336} _ 52
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181.

182.

183.

184.

(336)
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Flowers of brinjal may be

(1} long styled 2} medium styled
{3) pseudo-short styled (4) All of the above
M F w R R F B €7

(1) wft afdwr am (2) weaw afdes T
(3) et B affe I (4) AT gt

Which of the following is used to check sprouting of onion under storage?

@ ¥ IR F §HY G @ Y F A -8 WE I w1 §7
(1) NAA @) MH | (3) GA, (4) PCPA

First picking in okra can be done

days after sowing.

(1) 30-35 (2) 60-65 (3} 45-50 (4) 55-75
ﬁ@ﬁmﬁaﬁmaﬁgw@%ﬁﬁaﬁﬁﬁmﬁm%? |
(1) 30-35 fg (2) 60-65 faA (3) 45-50 f& (4) 55-75 faa

Whip-tail in cauliflower is caused by

(1) excess of boron (2) deficiency of boron
{3) excess of molybdenum (4) deficiency of molybdenum
FEh & e-dw e wT @ 27
(1) a7 i srftan (2) @R it wi
(3) wicagwm 6t srfiraar (4) miferseT i wT
Indian bean is also known as
(1) French bean (2) cluster bean
(3) hyacinth bean {4) broad bean
da 4% B s W A ST o 2 | |
(1) %= &F (2) TR T
(3) TRy @) w1g #=
53
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185.

186.

187.

188.

189,

190.

(336)

Which one of the following is of Indian origin?
(1} Chilli {2) Chow-chow (3) Bitter gourd (4) 'I‘lirnip

frafafen & ¥ - wsft sl @ & 27

(1) fod (2) TIFH-=TS (3) = (4} ey
In India the sheep husbandry is done mainly in the State of

(1) Rajasthan (2) Uttar Pradesh (3} Haryana (4) Bihar

@ § Y3 e gerey ¥ e o § dar 20
(1) ToRgH (2) IR W (3) gfwmn (4} fogr

Percentage of carbohydrate in molasses is

R ¥ sEtege N wfRm 7o 9@ 2
(1) 15 2) 25 (3) 55 @) 65

Dry matter percentage in cakes

Rl § yoF wed H e T aER T 2
(1) 50 2) 70 | (3) 80 4) 90

Which variety of the buffalo in India gives maximum milk production in a lactation
period?

(1) Murrah {2) Nili Rabi. (3) Jafrabadi (4) Mehsana
R § Fe-ft A e watte gw 3 R0
(1 = (2) s (3) STHTEE (4) HeEmHl

Seed rate/ha for transplanting of papaya is

m@m%muﬁmmm%
(1) 100 gm (2) 250 gm (3) 500 gm (4) 800 gm

54
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192,

193.

194.

195.

{336)

Which of the following animals is heat resistant?

(1) Cow

 (2) Buffalo

frafafas sl & @ e wfdt #9927

(1) T

The disease ‘ricket’ in animals occurs due to deficiency of
{1) vitamin A
@ T sad § frgeht it & grar &7

(1) farfim A (2) fefm B

The carbohydrate in cow milk is present in the form of

(1) sucrose (2) fructose
T ¥ gy § wEiende TRy v w2
(1) g& (2} wES

Which of the following vitamins is called retinol?

(1) Vitamin B,

The Ranikhet disease is found in

{1) cows

(1) ™

(2) vitamin B

(2) Vitamin E
FH-T fafim e saema 27

(1) Frefim B, (2) fofm E

(2] horses
@a U e uwn s}

55

(3} Sheep

(3} vitamnin D

@3) fazfim D

{3) maltose

(3) AR

(3) Vitamin C

(3) fafim C

(3) poultry

12U/102/22 Set No. 2

(4)

(4)

(4)

(4)

(4)

{4}

(4)

(4)

(4)

Camnel

vitamin K

lactose

REMGES

Vitamin A

faefim A

sheep

3

(P.T.0.)
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196.

197.

198,

199,

200.

Why cow milk appears yellow?

(1) Fat (2) Lipase
A g9 fen ® fa 7
(1) == (2) A

Cow pox is a
(1) bacterial disease

(3) fungal disease

FE U B TH

(1) SfewiE I

(3) F=® W

IVRI is situated at

(1) Mathura (2) Bareilly
wrdty ayrfafeen Ty dwm wel 22
(1) =@ (2} =

How many teeth a sheep has?

W U3 § I N T9 ven o 9w 2

{1) 32 {2} 40

(3) Protein (4) Riboflavin

(3) WM (4) TsEwfR

(2) viral disease

{4) algal disease

(2) fomogafia

(4) e T

(3) Hisar (4) Avikanagar
3) feom (@) arfaFFR
(3) 44 (4) 36

The fair of Malegaon (AP} is famous for which animal?

{1) Bullock {2) Buffalo

{3) Camel {4) Horse

TS (3Mo¥e) w1 A forw uy sife F faw wfug 20

(1) 3= 2) %=

(3) e (4) =rst

* ki
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AeafaEl & fom fdw

(39 T & 999 SE-g8 W G IW-TF & A g8 W HAel A @ Hen ae-wge 9§ 8 fod)

10.

11.

12.

13.

14.

. T i e % 10 e & ort @ 2@ W fF vwmww F wft gy Asg ool wiE ww

ga 8 R yfeaw Suge ud W W SEeR I AR e -HAas ® w0 oy &
cal gfeasw gm W o)

Ther vaT § forwrwr (BT mEw-vT & ofoRw fam @ 9 w9 gen Fve @y # 3 e

I oo @ fa@ ¥ y@ 7 @ 9F o 7 8 fagw ) g swH-vA W@ few wdm Fae IW-
vy # & geaiwd leaw s

AR HTFTE g FH-UA F FHIF FUH SMRO-y8 W 97 & fadif@ v wm e

-1 F WYE T8 W W R AT SeEE FEiie e ) ol awm fR A gl @ omw w2
wel-oe amava® @ aEl we-qfee @ wHiE a1 92 @ TR 3 wyEl W e

3o o HRe UA W AFANE Hew, UE-yfew ¥ ¥ ¥ v (A #E @) u we-giew w
FTFHIF Fo X Mo Wi Re WA o & Walkdl ¥ IJueras H sgafs T 2

srfw sl 4 o of wady s fraes g a9 aifed s 98 O ofEe Wuw WO
TEr S |

TeA-yfem ¥ gcle W % SR Swfeus oW A ™ ¥ 59% v F dFfcvs sw & 99 vwl -
77 3 ey e & @ 33 TR 9 @ SW-99 F ¥gF §8 W R w3 R & swqeR 97 d wma
HA &1

TOF W & I % ford Aol T @ 99 W M@ R UH W Afuw g | We A W AU K
g9 W YW SRA W I® IW TR WA S

w ¥ fF U 91 TR g SifEd SR aeen el o Wehar €1 Afg oy fEE W W gw 76 W wed
g @ watym 9fF % T @ T w6 ® Eel 9% ) W@ g W g o K ST
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